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1. Which of the following fraction has numerator 5
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Question was not answered

2. Which of the following fraction has denominator8.
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Question was not answered

3. Which one of the following is proper fraction?
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4. Which one of the following is improper fraction?
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Question was not answered
2.3
-
5. What is the value of 7 7
5 6 35
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6. What is the value of 3 3 3
10 10 30 10
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7. What is the value of
37 1 2
a) 16 b) 3 (c) 3
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Question was not answered
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8. The product of
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Question was not answered

9. What is the value of 29.35- 04.56
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15. The value of 2.71%5 is

(a) 135.5

(b) 1355

(c) 13.55

(d) 1.355
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Question was not answered

16. The product of 153.7 and 10 is

(a) 1.537

(b) 15.37

(c) 153.7

(d) 1537
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17. The value of 0.03% 1000 is

(a) 0.00003

(b) 3

(c) 0.003

(d) 30
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Question was not answered

18. The value of 1.3x3.1 i

S
(a) 403
(b) 0.403

(c) 4.03

(d) 0.0403
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7.75+ 0.25

19. The value of

(@) 31

(b) 0.0031

(c) 0.31

(d) 3.1
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Question was not answered

20. The value of 52.5*

(a) 5.25

(b) 0.525

(c) 525

(d) 5250
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